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SECTION A 35 MARKS

QUESTION1 [5 MARKS]

The terms microeconomics and macroeconomics are frequently used in the study of
economics, briefly illustrate the difference by using clear examples.

QUESTION 2 [10 MARKS]
Define the following terms;

1) Price elasticity of demand [2 Marks]

2) Indifference curve [2 Marks]

3) Market equilibrium [2 Marks]

4) Utility function: [2 Marks]

5) Marginal Rate of Substitution [2 Marks]
QUESTION 3 [10 MARKS]

Distinguish the five category of price elasticity of demand.
QUESTION 4 [10 MARKS]

Explain what is meant by the term budget constraint, name and discuss the elements on which
the budget constraints are depend on.

SECTION B 45 MARKS
QUESTION1 [20 MARKS]
Define the term land reform [2 Marks]

List the three (3) goals of land reform as well as the 6 (six) challenges facing this policy.
[18 Marks]

QUESTION 2 [10 MARKS]
Discuss five (5) main challenges facing the Namibian agricultural sector.



QUESTION 3 [15 MARKS]

The success of the agriculture sector depends on the critical roles played by various
stakeholders in the economy. Select one stakeholder of your choice and discuss the role which
that particular stakeholder plays in the agriculture sector.

SECTION C 15 MARKS

QUESTION 1

Scenario 1: Consider a consumer who can spends his income of 300 on good A or on good B or
on any combination of A and B. One unit of A costs 3 and one unit of B costing 5. Draw a budget
line. [5 Marks]

Scenario 2: Imagine the same consumer, his income rises from 300 to 360, other things
remaining equal. Draw an additional new budget line to illustrate the change. [5 Marks]

Imagine the consumer in Scenario 2, the price of 1 unit of B falls from 5 to 4, other things
remaining equal. Draw an additional new budget line to illustrate the change. [5 Marks]



